(B SUB ASM: DRAWER FRONT W/MANDLE

(T SUB ASM: WATERPAN W/KNOB



PARTS LIST EFFECTIVE ___05-09-06 _RB
MODEL FS13
Key Part Nul::l:er Description
Number Number .
Unit
1 Z1-04-07-0030 1 Top
2 21-06-07-0017 1 Insulation
3 2C-08-07-0211 Screw, #8 x 1/2” (Hex Head Self-Drilling)
4 Z1-04-07-0034 1 Cover, Inner Top
S 2C-08-07-0241 Screw, #6 x 1/4 (Slot Flat Head)
6 Z1-04-07-0300 1 Clamp, Thermostat
7 C9-30-FS-0002 1 Kit, Casting W/Leadwires
8 C9-53-FS-0023 1 Kit, Waterline W/Fitting
9 C9-06-FS-0010 1 Sleeving, Insulator
10 2K-10-FS-0015 1 Union, Brass
11 2K-10-FS-0014 1 Adaptor, Brass
12 C9-10-FS-0009 1 Tube, Heat Chamber (4-1/2” Long)
13 2C-10-FS-0019 1 Clamp, Hose
14 C9-04-FS-0072 1 Left Outer Track
15 2C-08-07-0149 Screw, 8-32 x 5/ 16 (Fillister Head)
16 Z1-30-07-0004 1 Left Inner Track
17 Z1-30-07-0003 1 Right Inner Track
18 Z1-04-07-0036 1 Right Outer Track
19 C9-50-FS-0010 1 Inner Liner - Sub Assembly
20 C9-30-FS-0007 1 Pan Lift Assembly
21 2C-08-07-0038 Screw, 6-32x9/16”
22 2C-08-07-0020 Hex Nut, 6-32 (Small Pattern)
23 2P-10-07-0015 1 Waterline Screen
24 Z1-10-07-0013 1 Tube, Water (1/4” O.D. x 4-1/2” Long)
25 2P-08-07-0148 1 Clamp, Water Hose
26 C9-04-FS-0063 1 Clamp, Waterline
27 C9-04-FS-0022 1 Reservoir Line W/Fitting
28 2A-10-FS-0006 1 Fitting, Brass - Female (1/4” O.D. Tube x 1/4” NP1)
29 1 Left Side Panel - Sub Assembly
30 1 Sleeve, Thermostat
31 C9-04-FS-0125 1 Spacer, Thermostat
32 2T-05-FS-0003 1 Thermostat
33 2C-08-07-0059 Lockwasher, #6 Internal
34 2C-08-07-0042 Screw, 8-32x5/8”
35 2E-05-07-0057 1 Terminal Block, Double Row
36 2C-08-07-0155 Rivet, 1/8” O.D. x.212” Length
37 C9-50-FS-0181 1 Bottom - Sub Assembly
38 1 Buzzer (120V)
39 4 Neoprene Foot W/Screw
40 2E-05-07-0175 1 Terminal Block, F-Series
41 C9-04-FS-0013 1 Cover, Lower Back
42 2E-05-FS-0006 1 Timer, EDSR Series (120V)
44 2C-08-07-0096 Screw, 6-32x 1-1/4”
45 C9-04-FS-0146 1 Cover, Pump
46 2C-08-07-0255 Screw, #8 x 5/8”
47 C9-10-FS-0011 1 Tube, Pump (1-5/8” Long)

IMPORTANT: WHEN ORDERING, SPECIFY VOLTAGE OR TYPE GAS DESIRED
INCLUDE MODEL AND SERIAL NUMBER

Some items are included for illustrative purposes only and in certain instances may not be available.

PAGE
OF

|N -

g

Star Manufacturing International, Inc.




PARTS LIST EFFECTIVE ___05-09-06 _RB
MODEL FS13
Key Part Nu;zl:er Description
Number Number .
Unit
48 2C-08-GR-0011 1 Bushing, Brass
49 2U-10-FS-0004 1 Pump, Oscillating (120V)
50 C9-04-FS-0087 1 Retainer, Pump
51 2C-08-07-0208 Screw, 6-32x 3/4”
52 C9-04-FS-0086 1 Plate, Pump
53 2K-10-FS-0012 1 Elbow, 90 Degree (Brass)
54 2K-10-FS-0013 1 Nipple, Female (Brass)
55 2E-05-07-0051 1 Cordset, 5 Foot (120V)
56 2K-05-07-0017 1 Strain Relief
57 C9-04-FS-0020 1 Cover, Top Back
58 1 Right Side Panel - Sub Assembly
39 1 Cover, Right Side
60 C9-50-FS-0081 1 Front - Sub Assembly
61 C9-30-FS-0026 1 Dial Timer Assembly W/Female Push-Ons
62 2E-05-07-0099 1 Switch, On/Off
63 2E-05-07-0015 1 Switch, Toggle - Momentary
64 2M-12-FS-0014 1 Switch Plate, Pulse Down
65 Z1-70-07-0343 1 Guard, Switch
66 21-05-07-0111 1 Boot, Switch
67 2M-12-07-0038 1 Label, On/Off
68 C9-30-FS-0035 1 Indicator Light
69 1 Dial W/Push Button (NLA, use Key # 42 instead)
70 C9-04-FS-0010 1 Clip, Water Pan
71 2C-08-07-0033 Washer, 7/16x3/16 x 24 GA.
73 1 Catch, Magnetic
74 C9-30-FS-0151 1 Water Pan
75 2C-08-07-0018 Hex Nut, Brass
76 2C-08-07-0017 Lockwasher, #8 Internal
77 C9-04-FS-0082 1 Front, Water Pan
78 2A-08-07-0288 1 Spacer, Aluminum
80 1 Knob W/Hardware
81 1 Water Pan W/Knob - Sub Assembly
82 C9-52-FS-0032 1 Drawer Front W/Handle - Sub Assembly
83 1 Drawer Handle W/Screws
84 C9-51-FS-0032 1 Drawer Front - Sub Assembly
85 Z1-04-07-0047 1 Right Adjustable Bracket
86 Z1-30-07-0002 1 Drawer Frame - Sub Assembly
87 Z1-04-07-0347 1 Left Adjustable Bracket
88 2D-04-FS-0002 1 Food Pan
89 2B-09-FS-0030 1 Food Grate
NS C9-04-FS-0001 1 Food Screen (optional)
IMPORTANT: WHEN ORDERING, SPECIFY VOLTAGE OR TYPE GAS DESIRED PAGE _2_
INCLUDE MODEL AND SERIAL NUMBER OF 2

Some items are included for illustrative purposes only and in certain instances may not be available.

g

Star Manufacturing International, Inc.




